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O +6ab @ 6ab
@ilQab ® 12ab

® —6ab

(2a + 3b)* = 4a? + 12ab + 9b*
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@ x4 14x+49 = (x = 7)?
@)1622 - 48x + 36 = (4x - 6)2
® 9x% 16 = (9x - 4)(x +4)

@ o =20 =15 = (x+5)(x = 3)
@t - 14-3= G+ (x-3)

@ x2+ 14x+49 = (x+7)2
® 9x?-16 = (3x—4)(3x + 4)
@ x* - 2x-15= (x = 5)(x +3)




3. o2 A A x2-3x-18,3x2+7x-6 2x*+x—-15 & &2l 2l5E=?

@x—i—S @ 3x-2 ® 2x-5
@ 2x+1 ® x-6
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(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)




5. x-y-3=0<, x®-2xy+y? - 5x+5y+1 2 F2?

@© -7 @D—5 ®1 @ 3 ® 5

(x-y)2-5(x-y)+1=32-5x3+1
—9-15+1=-5
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® x+y
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xy+x+y+l=x(y+1)+(y+1)
=x+1)O+1)

P tx—xy-y=x(x+1)-y(x+1)
=(x+1)(x-)
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F2E W= SHAEY x* - 8x 46 ©1Th

@ (x+1)(x+2)

@ (x+3)(x+5)

@ x+2)(x+3) G)x+2) (x+1)
® (x+2)(x+6)

K —8x+6—>x2+8x+6—>x%+6x+8—> (x+2)(x+4)




ZArZEg o] Qol7t (a + b)(a+ b + 1) — 30 o3, 7k2 9] Zo|7t
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® 4a+2b+4 @ 4a-2b-2 ® da-4b+2

@4a+4b+2 ® 4a+4b-2

S8 \
a+b=AzFH
A(A+1)-30=A%2+A4-30
= (A+6)(A—5)
=(a+b+6)(a+b-5)
N2 :a+b-5
=9 :2(a+b-5+a+b+6)=4a+4b+ 2 °|T}.
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® 5 @ 6 (@)—6 @ -4 ® -5
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—3a% + 12b% = -3(a?® - 4b?)

= —3(a+ 2b)(a — 2b)
k=-3, m=1, n=2
Sokmn=-3Xx1x2=-6




x-y=AZ A&3H
(x—y)(x—y+6)+9=A(A+6)+9
=A?+6A+9
= (A+3)?
= (x-y+3)*
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x2 + 36x+ = (2)C—|-)2
67 + 1 +[@] = Bx+5)2x+[@)

® 6.6 @ 6,0,0 © 9.6
® ©,@ ®e.e
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@:22 =14
©:4x®=36 .©®=9
©:9%2=281

®:10+3x@=1, .@=-3
®: (-8)x5 =15




12, 2(x+2)2+ (x+2)(3x— 1) = (3x = 1)2 = —(ax + b)(cx + d) ¥ T,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1
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@1 @ 2 ® 3 @)4 ® 5

(" +y")? = (2" = y")?

= (Y =P+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3- V8) =1

SA(xy)t =4
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ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
(i)a+5=18,b-6=1

a=13,b=7
(i)a+5=9,b-6=2

a=4,b=28
(i)a+5=6,b-6=3

a=1,b=9
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atb=-1,(a+1)(b+1) =12 L 0, T+ A]9] 7L

a’® + b3 + a®b + ab?

(a+1)(b+1)=ab+(a+b)+1=-12

a+b=-190E% gb=-12

a’® + b3 + a®b + ab® = a3 + a®b + ab® + b3
=a%(a+b)+b*(a+b)
= (a+b) (a* +b?)

=(a+b) {(a +b)* - 2ab}




